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Pace A

OBJECTIVES

1. The student should be able to correctly use the

commutative law of addition.

2. The student should be able to correctly use the

commutative law of multiplication.

3. The student should know that the commutative law

does not hold for subtraction and division.
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Page B

Greetings! You are about to begin improving your knowledge
of basic mathematics. There are many important uses for the
mathematics you are learning.

This booklet is not like your ordinary books. It is designed
to help you learn as an individual. On the following pages
you will find some information about mathematics. After the
information is presented, you will be asked a question. Your
answers to these questions will determine how you proceed
through this booklet. Uhen you have selected your answer

to the question, turn to the page you are told to.

Do not write in this booklet. You may wish to have a pencil
and some paper handy so you can write when you want to.

Remember this is nct an ordinary book.
1. Study the material on the page.

2. Read the question on the page (you may want to
restudy the material on the page).

3. Select the answer you believe is correct.

4. Turn to the page indicated by your answer.

Are you ready to begin?

(a) VYes Turn to page 1
(b) Mo Turn to page C

(c) HELP Go see your teacher

o s A S P
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Page C E

: Your answer was (b) No. ;
Well, this booklet is a little different.
i
3 3
Go back and read page B again. After you have read it,
you will probably be ready to begin. ;
3 3
3 ]
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Page 1

In this unit you will study the COI'MUTATIVE LAY in
three sections. They are:

Section I: the commutative law for addition
Section II: the commutative 1aw for multiplication
Section III: the commutative law as it applies to

subtraction and division.

Just what is the commutative law? We -en illustrate

the commutative law for addition by the following

examples:

(a) 3+4=4+3
(b) 5+1/9=1/9+5
(c) 17+ 217 =217 417

(d) .407 + 4 = 4 + .407
() .3+1.3=1.3+.3
(f) 172+ .5=.5+1/2

From these examples we can see that the COMIUTATIVE
LAY for ADDITION means: In all addition processes the
order of the numbers being added does not change the
sum.

Turn to page 2




Page 2

Hhich of the statements below best illustrates the

commutative law for addition of integers?

(a) 4-2=2:4 Turn to page 4
(b) 1/3+2/3=2/3+1/3 Turn to page 6
(c) 2+ 15=15+ 2 Turn to page 8
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Page 3

Good!

Does the commutative law for addition allow us to

write: 1710 + 1/11 = A = 1/11 + 1/10?

(a) VYes Turp to page 8
(b) Mo Turn to page 10

L2




Paae 4

Incorrect.

The question asked for an example of the commutative
law for addition. The example you chose is for multi-

plication.

Return to page 2 and make another choice.
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Page 5

The problem asked if 0 + 5 = 5 + 0, The commutative
law for addition tells us that the order of the
addition does not affect the sum. Thus, if ve add
0+5 and get 5 as the sumor dd 5+ 0 and get 5
as the sum, we see that the order does not change

the sum.

Return to page 1 and study the examples again

before continuing.




Page 6

No.

The question asked for an example that would illustrate

the commutative law for addition of integers.

e Shbaiin &S en ek Al T4

Your answer was an exampie of the commutative law

LT VINVIR O S SRS

for fractions. Remember that integers are numbers

such as 0, 1, 2, 3, ~ememenm--

B ndomn ol VML £

Be alert.
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The commutative law for addition means that if

7+5=12, then 5 + 7 = 12 also. The statement is:

(a) True Turn to page 3

e NN M ANt LR

(b) False Turn to page 10
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i

%
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Incorrect. :
§

It doesn't matter whether we are adding a fraction §
i

to an integer or just two fractions. The commutative ?
law holds for all addition. g
!

e AT AN AN W s 8 A el ML w5 e o

é
Does the sum of 9 + 1/2 equal the sum of 1/2 + 9% %
(a) VYes Turn to page 16 %

(b) No Turn to page 10
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Page 8

()
©

rrect.

tlork this one.

We know that 3/7 + 1/7 = 4/7 and 2/7 + 2/7 = 4/]1.
Then the commutative lav for addition tells us we can

write: 3/7 + 1/7 = 2/7 + 2/7. The statement is:

(a) True Turn to page 14

(b) False Turn to page 12
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You said you were not sure what to do. Let's take a !
look at an example. E
%
The commutative law for addition telis us that the j
E order of addition does not affect the sum. Thus, %
|
if 1.1 + 6 is equal to C, then %
: 6 + 1.1 will also be equal to C. g

Okay? Let's continue.

Aot ot it A sa s AR T § b e R O A 4N A £ e s e

We know that the sum of .04 and 3 is 3.04. that is

the sum of 3 and .04?

B s B wrmre RS rbss mW s b AW €

(a) 3.04 Turn to page 1 :
(b) .34 Turn to page 20 %
(c) .07 Turn to page 22 %
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Page 10

Remember that the commutative law for addition said
we could add the numbers in any order and cbtain the

same sum,

Thus, if4 + 5 =09, then 5 + 4 = 9 also. le can then

write this as: 4+5=9=05+ 4,

What about this one?

Does 0 + 5 =5+ 0?

(a) VYes Turi to page 3
(b) to Turn to page 5
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Page 11

Good! VYour answer was correct.

Pt et e Bre s Wi s A

s b 8 ot i

If 4 + .007 = A, then .007 + 4 = ?

(a) 4.007 Turn to page 13 ’

| ;
| (b) A Turn to page 15 ;
|
: (c) ot sure what to do ;
; Turn to page 9 ;
| i
|
z.
| j




Page 12

Excellent! Let's continue.

A1l the commutative law for addition tells r.; is
that the order of the addition does not change the

sum.

v o & ——— A A X A

LS A s
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|
g . If 3.41 + 6 = B, then 6 + 3.41 = B. The statement is: §
é (a) True Turn to page 15 E
? |
: (b) False Turn to page 19 §
:
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Page 13

Ooops.

Although the sum of the two numbers is 4.007, you

didn't need to add them. I gave you A as the sum

of the two numbers. Thus, the commutative law for

addition tells us that the sum of .007 + &4 will aiso

be equal to A.

Try this one.

s know that the sum of .04 and 3 is 3.04.

the sum of 3 and .04?

(a) 3.04 Turn to page 11
(b) .34 Turn to page 20
(c¢) .07 Turn to page 22

What is




Page 14

Incorrect.

Although the equation 3/7 +1/71 = 2/7 + 2/7 is true,

the statement said, "the commutative law for addition

tells us...." which makes the statement "false."

A1l the commutative law tells us is that we can |
switch the order of addition without changing the

sum. For example, 1/2 + 2/3 = 2/3 + 1/2. g

PRS-

The statement 1/3 + 4 = &4+ 1/3 illustrates the

commutative law of addition.

e e Ao Rr i o A S TS B TN

(a) True Turn to paee 16

(b) False Turn to page 7

ERIC
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Page 15

You have now seen that the commutative law for
addition is true for integers, fractions, and deci-
mals. In fact, it holds true for the addition of

all numbers.

Since letters just represent numbers, the commutative

lav for addition works for letters also.

Applying the principle of the commutative law, what

is a + b?
(a) ab Turn to page 23
(b) b+a Turn to pace 17

~

(c) They cannot be added  Turn to page 28
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Pace 16

Good, you are back on the right track!

Try this one.

Is the following statement true or false? If 1/8+ 8 = E,
then 8 + 1/8 = E also.

(a) True Tuvn to page 12

(b) False Turn to page 10
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Good!

lle are now finished with the first section of our

studv r€ the commutative law--the commutative law for

addiv.on.

Mow, let's look at Section II. The COMMUTATIVE LAY

for ULTIPLICATION states:

In all multiplication processes, the order
of the numbers being multiplied does not

change the product.

: For example, (a) 3 x4 =4 x3
(b) /3 x2/3=2/3x1/3

(c) 4.1 x5.4=5.4x4.1

(d) 2. .5= 5.2

(e) /8- 6=6 - 1/8

() 6.301 x 1/4 = 1/4 x 6.301

- SEE TSR R

o turn to page 18 and continue
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In th
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iagram below the rectangle represents &

football field. The length of the field is 100
yards, and the width is 50 yards. To find the area
of the field, we would multiply the length times
width.

100

Area = length x width

132

o
—
f—j

Is the area of the field the same if we apply the

commutative law for wultiplication and state: Are: =

5 width x length?

(a) VYes Turn to page 21
(b) No Turn to page 32
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Page 19

The commutative law for addition tells us that if we
add any two numbers, then we can add them in reverse

order and obtain the same sum.

Thus, if 3.41 + 6 = B
then 6 + 3.41 = B also.

Consider this problem.

Is the combined total of adding one cup of milk o
three teaspoons of chocolate the same as adding three

teaspoons of chocolate to one cup of milk?

(a) VYes Turn to pace 11

(b) Mo Turn to page 24




Page 20

NG.

You didn‘t even have to add the numbers. Applying
the commutative law to the problem, we see that if
.04 + 3 = 3.04, then the sum will be the same if the

order of addition is reversed to 3 + .04.

Return to page 1 and start over.
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Correct!

Try this one.

We know that the product of the fractions 1/3 - 1/4
is 1/12. ‘e can also see that the procuct of 1/6 °
1/2 is equal to 1/12. Then the commutative faw for
multiplication tells us we can write: 1/3 - 1/4 =

1/6 *+ 1/2. This statement is:

(a) True Turn to page 14
(b) False Turn to page 12

ERJS? !

Full Tt Provided by ERIC.




Page 22

Mo.

You didn't even have to add the numbers. Applying
the commutative law to the problem, we see that if
04 + 3 = 3.04, then the sum will be the same if

the order of addition is reversed to 3 + .04.

Return to page 1 and start over,
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Oh, oh!

Since letters just represent numbers, let's take a

look at what your answer would do.

You said that a + b will equal ab. Putting in values

of 4 and 3 for a and b respectively, your equation

would look like this:

4 +3 =4 -3 or that 7 =12, which is not true.
The problem stated that you were to use the commutative
law. Ve know that by the commutative law 4 + 3 =

3+ 4. Using letters now, we see that a+ b = b + a.

Try this one.
If the value of ¢ + d equals e, then d + ¢ = e. This

statement is:

(a) True Turn to page 31

(b) False Turn to page 33
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Your answer vwas "no." [ow wait a minute.

It doesn't make any difference vhether the milk is
added to the chocolate or the chocolate added to
the milk. The result or sum is still a cup of hot

chocolate.

The commutative law for addition works the same
way. The sum is the same even if we add the numbers

in reverse order.

Apply the principle of the commutative law to the

following problem.

We know that the sum of .04 and 3 is 3.04. UWhat is

the sum of 2 and .04?

(a) 3.04 Turn to pace 11
(b) .34 Turn to page 20
(c) .07 Turn to page 22




g Page 25
Very good! :
If 8.117 x 3 = m, then 3 x 8.117 = m also. This
statement is:
(a) True Turn to page 29
(b) False Turn to page 39
ERIC




Page 26

Good!

He are now finished with the first two sections.
e have seen that the commutative law holds for all
addition and multiplication of integers, fractions,

and decimals.

However, the commutative law does not hold true for
subtraction and division. e can prove this state-
ment by just shoving one example where the commutative
law doesn't hold true. Our example:

7-5=2

5 -7

-2 thus 7 -5#5- 7 since 2 #-2

and the commutative law fails for subtraction.

Me can show that the commutative law also fails for
division by this example: 6 : 3 =2
2:6=1/2

thus 6 «+ 3# 3 + 6 since 2 # 1/2.

Turn to page 27

ewn P e r e ot mer




Page 27

- O

Mhich one of the following statements is not a correct

application of the commutative law?

(a) a+b=>b+a Turn to page 52
(b) a-b=b-a Turn to page 30

7t
I

(c) ab = ba Turn to page
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Incorrect.

The problem stated that you were to use the commu-
tative law for addition. If this is done, the sum
of a + b is not needed. The commutative law says
that 3 + 4 = 4 + 3. Since letters just represent

nurbers, we can see that a + b=k *a.

Try this one.

If the value of ¢ + d equals e, then d + c = e.

This statement is:

(a) True Turn to page 31

(b) False Turn to page 33
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lle know that the commutative law for multiplication
holds for integers, fractions, and decimals. There-

fore, it will also hold for letters.

If 1 -.R=E, then does R - 1 = E?

(a) Yes Turn to page 26
(b) Ho Turn to page 47

ERIC

Full Tt Provided by ERIC.




Page 30

Correct!

Try this one.

The commutative law holds for of

integers, fractions, and decimals.
(a) addition, subtraction, and multiplication
Turn to page 55

(b) addition, multiplication, and division
Turn to page 57

(c) multiplication and addition
Turn to page 34

(d) division and addition
Turn to page 59
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Very good:

Ifli + M =S, what is the value of il + I?

(a) S Turn to page 17
(b) WM Turn to page 33
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Incorrect.

You can see that the areas would be the same by

working out the problem. Thus:

Aree = length x width

= 100 x 50

= 5,000 square yards
Area = width x length

50 x 100

5,000 square yards

Therefore, vie can see that the commutative law

holds for multiplication.

Does the commutative 1aw for multiplication mean

that if 9 -+ 7 = 63, then 63 =7 - 9 also?

(a) VYes Turn to page 36
(b) No Turn to page 38
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Incorrect.

Don't let the letters bother you. Remenber that they

only represent numbers.

Let's Took at an example: ;
e know that 7 + 3 = 3 + 7 by the commutative
iaw for addition. Since 'etters represent

numbers, we can say that A+ B=C =B + A.

If the value of 4 +d=f, thend + 4 = d4. This ;

statement is:

(a) True Turn to page 35

(b) False Turn to page 31 |

ERIC

Full Tt Provided by ERIC.




Page 34

Congratulations: You have completed this Unit.

Let's review what you have done.

1. You learned that the COMMUTATIVE LAY for ALDITIGH

is true for all integers, fractions, and decimals.

2. You learned that the COMMUTATIVE LAY for MULTI-
PLICATION is true for all integers, fractions,

and decimals.
3. You learned that a Commutative Law for subtraction

and division does 0T exist.

You are now ready to take a test on this Unit. Tell

your teacher that you have finished Unit 16.
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Incorrect.

You seem to be having trouble with problems that

deal with letters.

Turn to page 19 and continue from there.
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Good!

Dec  the commutative law for multiplication allow us

Jrite: 1/3 - 1/10 = B = 1/10 - 1/3?

(a) Yes Turn to page 21 1
(b) Mo Turn to page 38
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Page 37

Incorrect.

The commutative law of multiplication tells us that
1/3 - 1/4=1/4 - 1/3 and that 1/2 - 1/6 = 1/6 - 1/2.
It does not tell us anything about the relationship
of 1/3, 1/4, and 1/2, 1/6.

Continue. i

The statement 6 - 1/3 = 1/3 * 6 is:

(a) True Turn to page 43

(b) Faise Turn to page 41




fadas

Page 38

Incorrect.

Remember that the commutative law for multiplication
said we could multiply the numbers in any order and

obtain the same product.

Thus, if4 - 5 =20, then5 - 4 = 20 also. lle can

then write this as: 4 - 5=20=5 - 4,
Yhat about this one?
Does 0 - 6 =6 - 0?

(a) VYes Turn 10 page 36

(b) to Tura to page 40

LT
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Page 39

Hrong.

The commutative law for multiplication tells us that
if we multiply any two numbers, then we can multiply

them in reverse order and obtain the same product.

Thus, if 8.117 x 3 = ¥
then 3 x 8.117 = | also.

Consider this problem.

lle know that 4.07 x 4 = 16.28. e also know that
8.14 x 2 = 16.28. Therefore, does the commutative

law for multiplication tell us we can write 4,07 x 4§ =

8.14 x 2?
(a) VYes Turn to page 45 %
(b) No Turn to page 42

ERIC

Full Tt Provided by ERIC.




Page 40

Hrona.

The problem asked if 0 - 6 = 6 + 0. The commutative
law for multiplication tells us that the order of the
multiplication does not affect the product. Thus,
0 -6=0and 6 - 0 =0 from which we can see that

the order does not affect the product.

Return to page 17 and study the examples again before

continuing.
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Incorrect.

it doesn't matter whether ve are multiplying a
fracticn to an integer or just two fractions. The

commutative law holds for all muitiplication.

Does the product of 8 « 1V/5 equal the product of
11/5 - 87

(a) Yes Turn to page 43 ;
(b) No Turn to page 38

% it 2 v,
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Good:! Your answer is correct.

,‘,- :‘u 2

4 If 10 x .0801 = C, then the commutative law for

multiplication allows us to say .0801 x 10 = ?

(a) .801 Turn toc page 44 |
(b) € Turn to page 29 ;

E (c) ilot sure what to do
Turn to page 46

S e heT v A -
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Good, you are back on the right track!

At same wran &

Try this one.

ot e iy A Sk T ol L S TRk e e G300

Is the following statement true or false? If ;

2/9 - 9 =B, thend . 2/9 = B also.

(a) True Turn to page 25

() False Turn to page 38

ovaon Wt ¢ K Kt WRE e
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Page 44

Oooops &

Although the product of the two numbers is .801,

you didn't need to multiply them. I gave you ¢ as
the product of the two numbers. Thus, the commuta-
tive law for multiplication tells us that the product

of .0801 x 10 will also be equai to ¢.

Try this one.

We know that the product of .601 and 3 is 1.803.
Ihat is the product of 3 and .6017

(a) 1.803 Turn to page 42
(b) .1803 Tqrn to page 50
(¢} 18.03 Turn to page 48

L T Y
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Your answer was "yes." How wait a minute.

A1l the commutative law for multiplication tells us
is that the order of multiplication can be reversed

with the product remaining the same.

In the last problem it is true that 4.07 x 4 = 16.26
and 8.14 x 2 = 16.23, but we cannot set them equal by
use of the commutative law. Uhat we can say by the
commutative law is that:

4.07 x 4 = 16.28 = 4 x 4.07

or
8.14 x 2 =16.28 = 2 x 8.14

Ve know that the product of .601 and 3 is 1.803.
Yhat is the product of 3 and .601°

(a) 1.803 Turn to page 42
(b) .1803 Turn to page 50
~ (c) 18.03 Turn to page 48
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You said you were not sure what to do. Let's take

a look at an example.

The commutative law for multiplication tells us that

the order of multiplication does not affect the pro-

duct. Thus, if 2.1 x 2 is equal to D, then we know that
2 x 2.1 will also be equal to D without

multiplying to get 2 numerical answver.

Okay? Let's continue.

He know that the product of .60% and 3 is 1.803.
lhat is the product of 3 and .601?

(a) 1.803 Turn to page 42
(b) .1803 Turn to page 50
(c) 18.03 Turn to page 48

[ T
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Incorrect.

Don't let the letters fool you. The letters only

represent numbers, so we can treat them as such.

Thus, by the commutative law we know that:
5x8=8x5 or we can write this using
letters as

axb=>bxa.

Try this one.

If the value of 7 x f = h, then f x 7 = (7 + f)/h.

(a) VYes Turn to page 49
(b) Mo Turn to page 51




Page 48

No.

You didn't even have to multiply the numbers.
Applying the commutative law to the problem, we
know that if .601 x 3 = 1.803, then the product will
be the same if the order of multiplication §§ re-

versed to 3 x .601.

You seem a little shaky in this section.

Return to page 17 and study the examples before

continuing.

ERIC

Full Tt Provided by ERIC.




Page 49

Incorrect. You.are making it much too difficult.

Let's look at an example. If we have the statement
¢ X d = e, then applying the commutative law, we

also know d x ¢ = e or that:

cxd=e=4dxc.

IfFFH xT =W, what is the value of T x I?

(a) Y Turn to page 51
(b) T+ H Turn to page 53
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Page 50

No.

You didn't even have to multiply the numbers.
Applying the commutative law to the problem, we
know that if .601 x 3 = 1.803, then the product
will be the same if the order of multiplication is

reversed to 3 x .601.

You seem a little shaky in this section.

Return to page 17 and study the examples before

continuing.

Tt
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Very gocd! Your answer s correct.

Continue.

Is the following statement correct? If Rx 1 = E, %
then RI = E = IR,

(a) VYes Turn to page 2v §

(b) Mo Turn to page 49 %

g
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Now wait a minute!

You said that the commulative law does not hold for
a+b=0>b+ a. This statement, a+ b =D + a, is an
addition problem for which the commutative law does

hold.

Select the choice which best fits your case.
(a) I don't understand the commutative law for
additien Turn to page 1

(b) I understand the commutative law but made a
careless mistake Turn to page 26
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Page 53

Incorrect.

You are having trouble with problems that deal with
letters. [laybe more work with numbers will help you

to understand.

Turn to page 25 and continue from there.
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Now wait a minute!

You said that the commutative law does not hold for
ab = ba. This statement, ab = ba, is a multiplication

probien for which the commutative law is tiue.

Select the éhoice which best fits your cCase.
(a) I don't understand the commutative law for
multiplication Turn to page 17

(b) 1 understand the commutative lav but made a |
careless mistake Turn to page 26




Page 55

mak. this mistake? VYou chose: addition,

subtraction, and multiplicetion.

The commutative law does work for addition and multi-
plication, hut il0T for subtraction. Look at this
example:
If the commutative law did hold for subtraction,
then 6 - 3 would equal 3 - 6. However, 6 - 3 = 3 |
and 3 - 6

it

-3. Are they equal? o, because3

doesn't equal -3.

Does the commutative law hold for subtvaction, such

asA-B=b-A?

(a) VYes Turn to page 58

(b) ilo Turn to page 61
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Page 56

:z You answered "Yes." HNo: ilo!
.
I just finished showing you that the commutative iaw
de2s NOT hoid true for division.
1 Return to pace 59 and carefully study the example
3 before continuing.
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Page 57

Incorrect. You chuse: addition, multiplication, and

division.

The coumstative law does work fovr addition and multi-

plication, but NOT for division.

Look at this example: If the commutative law did
hold for division, then 10 ¢ 5 would equal 5 ¢ 10.
However, 10 = 5 = 2, and 5 + 10 = 1/2. Ave they

equal? Mo, because 2 doesn't equal 1/2.

Does the commutative law hold for division, such as

A:B=B3: A?
(a) Yes Turn to page 60
(b) o Turn to page 62




Page 58

Oh, no!l.

I just finished showing you that the commutative law

does #OT hold true for subtraction.

Return to page 55 and carefully study the example

to see why. Continue from page 55.




Pace 59

Incorrect. You chose: division and addition.

The commutative law does work for addition but 10T
for division. Look at this example: If the commuta-
tive law did hold for division, then 10 = 5 would
equal 5 ¢« 10. However, 10:5=2,and 5 ¢ 10 =

1/2. Are they equal? Wo, because 2 doesn't equal

/2.

Does the commutative law hold for division, such as

ARs+B=B3sA?

(a) VYes Turn to page 56
(b) HNo Turn to page 62
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Page 60

You answered "Yes." No! No!

I just finished showing you that the commutative law

does not hold true for division.

Return to page 57 and carefully study the example

before continuing.
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Page €1
Good!
Let's continue.
The commutative law holds for of

integers, fractions, and decimals.
(a) addition, multiplication, and division
Turn to page 57

(b) multiplication and addition
Turn to page 34

(¢c) division and addition
Turn to page 59
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Pace 62
Very good.
Let's continue.
The commutative law holds for of integers,

fractions, and decimais.

(a) addition, subtraction, and multiplication
Turn to page 55

(b) multiplication and addition
Turn to page 34
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NURTHWEST REGIONAL FDUCATIONAL LABORATORY
400 Lindsay Building 710 S. W. Second Avenue
Portland, Oregon 97204
CAI MATHEMATICS
TEST QUESTIONS
UNIT 16 - COMMUTATIVE LAW

Which of the statements beloew best illustrates-the-ﬁommutative law for Addition
of integers.

a) 4.3=3,4
b) 249 =9 + 2

c) 1/3 +2/3=2/3+1/3

If area = length x widch does- the Commutative law- for Multiplication state
that area = width x length

a) yes

b) no

The Commutative Law holds for

of integers, fractions, and
decimals.

a) addition, subtraction, multiplication

b) addition, division
c) multiplication and addition

The Commutative Law of Addition means that-if 3+5=8, then 5+3=8 also.

a) true

b) false

Does the Lommutative law for Multipiication mean that if 9.7 = 63, then 63/7=9

a) vyes
b) wno

Lf 10/ 5=C then the Commutative faw tells us that
a) 5/10=C
b) 10C=5

¢) neither

ok
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Unit 16 (continued) page 2 :
7. Does 0+5=5+0

a) yes

b) no

8. Does 0.6=6.0

a) ves

b) no

9, If the valve 4+d=f then d+4= d4

a) true

b) false

10. Does the Commu?ative Law for Addition allow us-to write: 1/10+1/11=A=11/1+1/30
a) yes

b) no

11. If 1/3.1/4=1/12 and 1/6.1/2=1/12, then the Commutative Law for Multiplication
tells us that

a) 1/3.1/4=1/6.1/2

b) 1/4.1/3=1/2.1/6

¢) neither
12. Tf 7-3=D then the Commutative Law tells us that

a) 7-3=4

¢) neither

13. We know that 3/5 +1/5=4/5 dnd 2/5+2/5=4/5 then the Commutative Law for Addition
tells us we can write 3/5+1/5= 2/5+2/5

a) true
h) false
14. Does the Commutative Law for Multiplication allow us tc write 1/3.1/10=B=10/1.1/3%
a) yes

b) no




b Unic 16 (continued Feee
5 15, If M/T =W What is the value of T/M

(a) W

(b) MxT

(c) Neither

16, The Commutative Law of Addition is illustrated by 1/5+ 4 =4+ 1/5

(a) True

(b) False

[

17, If 8,1177x 3 =3 =M Then 3 x8.711 =M also
This statement is @

(a) True
(b) False
1§, If R =I/E Thenl
(a) R=E/I
(b) R=IxE
(c) Neither

19, If1/7+5=E, Then 5+ 1/7 = E

;
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% (a) True
: (b) False
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.
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20, If I. K = E, Then Does R, I = EP
(a) VYes
(b) VNo

21, If 3.33+ 6 =B Then 6 + 2.33 ‘=3B
The Statement is

(a) True

‘H) TFalse

22. Does the Commutative Law hold for subtraction such as A-B - B-A

(a) Yes

(b) VNo




Unit 16 (continued

23,

240

25

1f the value of 5 x a = b Then the Commutative Law says that
Fx5= (5+F)/H

(a) True

(b) False

0% the Commutative Law hold for division such as A/B = B/A
(a) Yes

(b) No

Applying the principle of the Commutative Law, what is A + B?
(a) They cannot be added

(b) ab

(c) b+a

Page 4




ANSWER SHEET

UNIT 16 COMMUTATIVE LAW

i
1. b 11, c 21, a |
2, a 12, ¢ 22, b %
3, ¢ 13, b 23, b 2
4, a 14, b 24, b z
5. b 15. ¢ 25, ¢ i
6. c 16. a
7. a 17, b
8. a 18. ¢
9. b 19. a
10, b 20, a

To the Instructor: The above problems are related to the objectives as follows:

OBJECTIVE
1: 1,4,7,10,13,16,19,21,25, |
2: 2,5,8,11,14,17,20,23, ;

3: 3,6,9,12,15,18,22,24,




